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QUESTION 1

What is a Connection Point Reference used to declare? 

A. a pointer to a connection point 

B. a submachine state 

C. an entry or exit point of a submachine state 

D. an entry or exit point of a state 

E. a pseudostate 

Correct Answer: C 

 

QUESTION 2

For what does an interaction operator define semantics? 

A. a particular message 

B. a particular combined fragment 

C. a particular interaction fragment 

D. a particular interaction 

Correct Answer: B 

 

QUESTION 3

In the exhibit, how many of the arrows must provide values for the outgoing arrow to be given a value? 

A. none 

B. three 

C. one 
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D. two 

Correct Answer: B 

 

QUESTION 4

What types of features may a component possess? 

A. attributes and operations 

B. operations, but not attributes 

C. neither attributes nor operations 

D. attributes, but not operations 

Correct Answer: A 

 

QUESTION 5

In the exhibit, what is true for Massert? 

A. A message q that occurs before a message p is invalid. 

B. Following a message p, a message m would be valid. 
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C. Following a message p, a message m would be invalid. 

D. A message p may come anywhere in the assert combined fragment. 

Correct Answer: C 
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